EE3610 Signals and Systems Fall 2014

Reference Solution of Midterm Exam 11
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X[n] = n(%)” O, X (e
real, odd pure imaginary
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6.
x[n]=28[n]+&[n-1]+S[n-3]
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27 iy 4
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= y[n]=45[n]+56[n-1]+5[n-2]+45[n-3]+25[n—-4]
3) (4%)
Not equal, N should be more than or equal to 7 such that
z[n] = X[n] * x[n] = IDFT{X?[k]}= X[n] ® X[n]
1.
(1) (4%)
H,(e")=|A(e")|e ", H,(e")=|B(e*)fe ™
Hy (€)= H, (e ) H, (e") =|A(e")|B(e"*)[e =
ZH,(e®)=~(a+B)Q = is linearly proportional to Q
A cascade system of two linear phase systems is linear phase.
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ZH, ()% —(a+ B)Q
A parallel system of two linear phase systems is not linear phase.
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10.
(1) Impulse train in time domain < Impulse train in frequency domain
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(2) From the given table
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Yes, it can be recovered from y(t) because there is no aliasing in the spectrum.
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